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B- 0 A = - kzTN(n(z)
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is m (530
,

h = 0) - 1 ?

Approximate solution : mean field theory
↑ ↓

↓ what direction is /spin in

↓ average environment

E = -5- hSi-Jsim-USi
↓

= ESi(-5m - h)
- effective local field

indecent



MFT prediction is
y

more dimensions

m = tanh (B[h + jnd])
-

is this true?
solve graphically

funn (h+sand)= ↑ B
- no external field

M

what is J
/T



MFT is physically wrongIn Id

butConlyquantitativelyWronga
a

why no spontaneous magnetization In Id

but there is in higher dimensions

- 50
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4 = 0
** ** ++ + ↑+14
mu

G E= Emin = -JN m = 1 interfaces
↓

almosO energy
1 ↑ ↑ ↑ ++++ E = -JN + 25 m = 0-



in Id
↑

N Spin system

# m = 0·
N

E = Emin + 25 M interface issystem
↓ size

area us volume

as d + surface area/volume ration



Zimm-Bragg made( / Helix-coil model

us - Ele
Nanino acids X-helix

TickkickF
which is prefered

C has energy O
,

H has an energy-h
- J for neighbors



think about lamino acid

PM/P
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veBh = K CH

Independent model
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z = zu = ( +k))k(
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like ephiBh

= independent

Scenario-Zipper model, ↳ coupling is big

H z= (N-n+1)k"mn- 1

n =0



fraction of residues that are helical
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